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KRW 20,000 JPY 2,000 TWD 600 UsD 20
*otE S18Y X Al | *OkE A8 XA Al | *EtE SR Zuh Al | *3lE ST X4t Al
K 1kge KRW 10,000 1kge JPY 1,000 1kgg TWD 300 1kgg USD 10
F5t= Z=7b 2o =7h 21t =7 23 =7 23
*Lite 22 E2, *Lite 222 E2, *Lite 22| F2, *Lite 222 &2,
KRW 60,000 7} &1t JPY 6,000 7+ £t TWD 1,800 7t 21t UsD 60 7t £t
KRW 100,000 JPY 10,000 TWD 3,000 usD 100
*OHE G188 X Al | *OkE A8 x4 Al | *FOE SR b Al | *=3tE ST X4t Al
S 1kg® KRW 10,000 1kg JPY 1,000 1kge TWD 300 1kg USD 10
F5t= =7b 2o =7 21t =7h 23 =7h 23
*Lite 22 E2, *Lite 222 E2, *Lite 22 E2, *Lite 222 &2,
KRW 60,000 7} &1t JPY 6,000 7+ £t TWD 1,800 7t 21t USD 60 =7t £t
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KRW 140,000
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